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Konstrukční úlohy 6. 5. 2020

Sestroj trojúhelník KLM, kde   KL  = 6,4 cm; vm = 4 cm; 
tm = 5 cm.

I. Náčrt
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Rozbor

a ∩ b = { M }

II. Popis konstrukce: 
1. KL;  KL  = 6,4 cm
2. b; b ( X; r = tm= 5 cm)
3. a; a   KL;   a;KL  = vm = 4 cm

4. M; M ∈ a ∩ b

5.      KLM

IV. Konstrukce:
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Sestroj trojúhelník KLM, kde   KL = 6 cm;      KML = 900 
vm = 2,5 cm.
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≮I. Náčrt Rozbor

IV. Konstrukce:K L

M a a ∩ τ = {M}

≮

4. M; M = a ∩ τ
5.      KLM

3. τ; τ ( X; r = 1/2 KL)

II. Popis konstrukce: 
1. KL;  KL  = 6 cm
2. a; a   KL, a;KL  = vm = 2,5 cm
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